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CALL TPERSP (XFU,WF,AF,BT,GM,ED,EL)
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XFU(1,1) <2 < XFU(L,2), XFU(2,1) <y < XFU(2,2), XFU(3,1)<z<XFU(3,2) (1)
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IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION NRECPT(3,30),RECTAX(4,30),C0(3,2,100)
REAL*8 XFU(3,2),WF(3)
DATA A,B,C,CA,CB,CC/1.0,1.0,1.
DATA XFU/-1.0,-1.0,-1.0,1.0,1.
DATA WF/160.0,160.0,160.0/
DATA AF,BT,GM,ED,EL/ 10.0,0.0,-10.0,150.0,1500.0/
CALL TSPNGE(210,1,3)
CALL TSLATC(A,B,C,CA,CB,CC)
CALL TSBZEG (NRECPT,RECTAX,NRP,CO,NLIN)
CALL AYPSTR(99)
CALL AYORIG(30.0,30.0)
CALL TPERSP(XFU,WF,AF,BT,GM,ED,EL)
CALL TPTRAC(1)
CALL TPHILP(-1.0D0)
CALL TPHILD(0.0,1,6,5,0)
DO 42 I=1,NLIN
X1=Cc0(1,1,I)
Y1=C0(2,1,I)
Z1=C0(3,1,I)
X2=C0(1,2,I)
Y2=C0(2,2,I)
Z2=C0(3,2,1)
CALL TPLINE(X1,Y1,Z1,X2,Y2,Z2,30)
42 CONTINUE
CALL AYPEND
STOP
END
FUNCTION FUNCD(XA)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION XA(3)
FUNCD=1.0
KX=1000000.0%XA (1)
KY=1000000.0*XA(2)
KZ=1000000.0*XA(3)
CALL TSKFBZ(KX,KY,KZ,1000000,IND)
IF(IND.NE.O) FUNCD=-1.0
RETURN
END
FUNCTION LFUNC(XA)
IMPLICIT REAL*8 (A-H,0-Z)
COMMON/BZPL/KKG (3,20) ,NNG, IEOH, INDC, IBR, ICUT
DIMENSION XA(3)
LFUNC=-1
RETURN
END
FUNCTION FUNC(XX)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION XX(3)
FUNC=0.0
RETURN
END
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CALL TPHILP(VA)
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CALL TPSCHG(-1)
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CALL TPHILD(VA,IFLAG,IS1,IS2,IS2)
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000000000 50000000000000000000000000000000000000
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CALL TSKFBZ(XKX,KY,KZ,IC,IND)
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XK=XA(1)
YK=XA(2)
ZK=XA(3)
CALL GETKVC(XK,YK,ZK,AK,BK,CK)
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DFST = 0.2, DMIN = 0.1, DMAX = 10.0, DFAC = 2.0, DVID = 0.25 (2)
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CALL TPHLDG(DFST,DMIN,DMAX,DFAC,DVID)
CALL TPHLDS(DFST,0.01D0,DMAX,1.2D0,DVID)
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DMIN=0.01, DFAC=1.2

OO000o00o0o00o0ooO0o0o00oooOoOTPHLDGDOOOOODOOOOODOTPHLDSOOOOO
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O0xz=constant 00000000000 0OO0OOO NN(2)-NN3)OOUOOOODDODOOOODODOO
000000000 2000 NN(1)H)OOOOO NK(1)OOODOUOOOOOTPEXYZOOODOOOO IGR
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ooooo s.1
IMPLICIT REAL*8 (A-H,0-Z)
EXTERNAL FUNCA,FUNCB
REAL*8 XFU(3,2),WF(3)
INTEGER NN(3),NK(3)
D12=0.2
XFU(1,1)=-D12
XFU(2,1)=-D12
XFU(3,1)=-D12
XFU(1,2)=D12
XFU(2,2)=D12
XFU(3,2)=D12
SIZE=100.0
WF(1)=SIZE
WF(2)=SIZE
WF(3)=SIZE

IFL=70
AF=25.0
BT=0.0
GM=-20.0
ED=150.0
EL=1500.0
CALL AYPSTR(IFL)
CALL AYORIG(20.0,20.0)
CALL TPERSP(XFU,WF,AF,BT,GM,ED,EL)
CALL TPTRAC(1)
CALL TPSCHG(-1)
EF=0.0
CALL TPHILP (EF)
CALL TPHILD(0.0,0,0,0,0)
DO 11 I=1,3
NN(I)=161
NK(I)=2
11 CONTINUE
IGR=0
CALL LINEWD(0.7)
CALL TPFXYZ(FUNCB,EF,NN,NK,IGR)
CALL LINEWD(0.1)
CALL TPFXYZ(FUNCA,EF,NN,NK,IGR)
CALL LINEWD(1.2)
X1=-D12
Y1=0.0
Z1=0.0
X2=D12
¥2=0.0
72=0.0
CALL TPLINE(X1,Y1,Z1,X2,Y2,Z2,30)
X1=0.0
X2=0.0
Y1=-D12
Y2=D12
CALL TPLINE(X1,Y1,Z1,X2,Y2,Z2,30)
Y1=0.0
¥2=0.0
Z1=-D12
Z2=D12
CALL TPLINE(X1,Y1,Z1,X2,Y2,Z2,30)
CALL AYPEND
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STOP
END
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CALL TPSCHG(-1)
EF=0.0
CALL TPHILP(EF)

oooooo

TPERSP 0O0OO0OOCOCOODODODOOOO PTIMEOOOOOOOODODODO20000000DDOO
O IBM-AIXOOOOOOOOOOOOOO ETIMEODOOOOOOOOOOOOO PTIME O TPERSP
0000000 NECOOOODOOOODOOO CLOCKM O0OO0OO FLAPW OOOOOODOOOO
obooooboooooboooooobOoooobOoobooboboooboooobobobobooboo
TPERSPOOOO PTIMEODOOOOOOOOOODOOCOOOOOOOODODOOODOOOODDOODO
obobOoboboooocooooooooooooboooooooooboooooboooboOoboobOobooobon
oboooooooooobobooooon

ooOooo 5.2

FUNCTION FUNCD(XA)
IMPLICIT REAL*8(A-H,0-Z)
DIMENSION XA(3)

FUNCD=0.0
RETURN
END
INTEGER FUNCTION LFUNC(X)
IMPLICIT REAL*8(A-H,0-Z)
REAL*4 X(3)
LFUNC=0
RETURN
END
FUNCTION FUNC(XX)
REAL*4 XX(3)
WA=FUNCA (XX)
WB=FUNCB (XX)
IF(WA.GE.WB) THEN

FUNC=WA
ELSE

FUNC=WB
END IF
RETURN
END
FUNCTION FUNCB(XX)
IMPLICIT REAL*8(A-H,0-Z)
REAL*8 KB
DIMENSION XX(3)
RR=XX (1) **2+XX (2) **2+XX (3) **2
R4=RR*RR
FUNCB=XX (1) *XX (2) *XX (3) -R4
RETURN
END
FUNCTION FUNCA(XX)
IMPLICIT REAL*8(A-H,0-Z)
REAL*8 KB
DIMENSION XX(3)
RR=XX (1) **2+XX (2) **2+XX (3) **2
R4=RR*RR
FUNCA=-XX (1) *XX (2) *XX (3) -R4
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RETURN

END

SUBROUTINE CLOCKM(ITIME)
C FOR UNIX

DIMENSION TERY(2)

¢ etime for AIX FORTRAN
CALL ETIME_(TERY)

C etime for SUN FORTARAN

¢ CALL ETIME(TERY)

ITIME=TERY (1) %1000
RETURN

END

SUBROUTINE PTIME(T)
REAL*8 T

CALL CLOCKM(IT)
T=IT/3600000.0
RETURN

END
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0000000 sK3000000000000D00000DO00OODODOOTSBZEGO CALLOOODOO
OO00o00O00ob0O0o00oO0O00ooO0oOon fortl00000O00DOOODOOOOODOOODOO
gooooo

odooonOo e.1
IMPLICIT REAL*8 (A-H,0-Z)
EXTERNAL FUNC
COMMON/ENRSPL/EM(366145) ,PN(3) ,P(3),N(3),JS
DIMENSION NRECPT(3,30),RECTAX(4,30),C0(3,2,100)
DIMENSION JB(2,3)
REAL*8 XFU(3,2),WF(3)
REAL*8 XX(3),XC(3),DR(3)
INTEGER M(3),NN(3),NK(3)
DATA XFU/-1.0,-1.0,-1.0,1.0,1.0,1.0/
DATA WF/120.0,120.0,120.0/
DATA AF,BT,GM,ED,EL/10.0,0.0,-20.0,150.0,1500.0/
READ(1,%*)
READ(1,%) IL,NGEN,INV
CALL TSPACE(IL)
DO 1 I=1,NGEN
READ(1,*) JA, ((JB(J,K),J=1,2),K=1,3)
CALL TSGENR(JA,JB)
1 CONTINUE
CALL TSPGRP (INV)
CALL TSPGDS
READ(1,*) A,B,C
READ(1,*) CA,CB,CC
CALL TSLATC(A,B,C,CA,CB,CCO)
CALL TSBZEG (NRECPT,RECTAX,NRP,CO,NLIN)

ooboob0e2000000000 E(E)DDDD k0000000000000O000 FUNCOOO
000000 fort.310000000 COMMON/ENRSPL/ DO0OUOOO0OO0OOCuOO0OOOOO d0O0O
0000 sO000000O000D0O0O00000OO00DOODO00DO0OO fort.31 000000000

READ(31) IXMAX,NB,NNEE

000000000000 ooooooooooOoOOoIXMAX O I''O00 XOoooooogooood
00000000000 NBUOUOOUOOOOONNEEODOUOOOOOOOOOODOOOOO 8(a)0OO0O
OO0000D0O000 IXMAX=129,NNEE=366145 0 00O

oooono 6.2
NB=6
DO 10 J=1,NB
READ(31) IXMAX,NB,NNEE
READ(31) (EM(X),K=1,NNEE)
WRITE(6,*) IXMAX,NB,NNEE
10 CONTINUE
PN(1)=1.0
PN(2)=1.0
PN(3)=1.0
N(1)=IXMAX-1
N(2)=N(1)
N(3)=N(1)
Js=3
DO 51 I=1,3
P(I)=PN(I)/FLOAT(N(I))
51 CONTINUE
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00000 6.30 AYPSTRO TPERSP 0OOODODOO TPHILD O FUNCDOOOOOOOOOO
0000000000000 00 CALLTPCIHL(3) DO0OO0OUOOOOOOOOOOOOOOOOOO
0008000000 DODDOOU0O0D0OUDOOUDDOUO0D0OULOODUO0DDOOOOOOUD
O00000oOoooooooo0o0ogOo TSBZEGOOOODOOOOOOoOooooooooooood
goooocAQOOOO ¥yOOOOooooood

goOooo 6.3
CALL AYPSTR(81)
CALL AYORIG(30.0,30.0)
CALL TPERSP(XFU,WF,AF,BT,GM,ED,EL)
CALL TPTRAC(1)
EF=0.41714
CALL TPHILP (EF)
CALL TPHILD(0.0,1,6,5,0)
CALL LINEWD(1.6)
CALL TPCIHL(3)
DO 42 I=1,NLIN
X1=C0(1,1,I)
Y1=(C0(2,1,I)
Z1=(C0(3,1,I)
X2=C0(1,2,I)
Y2=(C0(2,2,I)
Z2=(C0(3,2,I)
CALL TPLINE(X1,Y1,Z1,X2,Y2,Z2,30)
42 CONTINUE

CALL LINEWD(2.0)

CALL TPLINE(-1.0D0,0.0D0,0.0D0,1.0D0,0.0D0,0.0DO0,30)
CALL TPLINE(0.0DO,-1.0D0,0.0D0,0.0D0,1.0D0,0.0D0,30)
CALL TPLINE(0.0D0,0.0D0,-1.0D0,0.0D0,0.0D0,1.0D0,30)
CALL TPLINE(0.0,0.0,0.0,-0.75D0,-0.75D0,0.0,30)

O00000640000000000000000O00OODOUDOCALL TPCIHL(0)OODOOOOOOO
000O0000OCALL TPHILD(0.0,0,0,00) 00 0000000000000 0OOOTPFXYZ00000
oobooobOoobooboooboooobooobboooboooboooboobooooboobobooooon
ooooo

TPSECT (FUNCT, AA,DR,XC,IA,IG,NX,NY,KX,KY)

000000000 FUNCTOOODOOODOOODO AAOOOOOoOoooo XC(S)DDDDDD DR(S)
godoooooooooouoooooobooooooooooooooooao DR(S)DDDDDDDD
goooooooooooooao XC(S)IZIDIZIIZIDDIZIDDDDDDDDDDDDDDDDDDDDDD
0000000000000 000000000 AAODDDODOOOOODODODOOOOoOODOO0O 1A=10
000I1G=100000000000000000O00O0000O000O0O000O0O00 IG=000000
OO0 NXNYOOOOOOODODODODO0oDOoooooooooooooooooooooIG=100000
00o0o0oO0ooooD KX, Ky ooooooooooooooooooooooooooood NX-1,NY-1
O0do0o0ooooooooooon
oodOdoo 6.4

CALL LINEWD(0.1)

CALL TPCIHL(0)

CALL TPHILD(0.0,0,0,0,0)

DO 11 I=1,3

NN(I)=129

NK(I)=1

11 CONTINUE

CALL TPFXYZ(FUNC,EF,NN,NK,1)
CALL LINEWD(1.2)
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XC(1)=0.
XC(2)=0.
XC(3)=0.
DR(1)=0.
DR(2)=0.0
DR(3)=1.0D0
CALL TPSECT (FUNC,EF,DR,XC,0,1,129,129,4,4)
DR(1)=1.0DO
DR(2)=-1.0D0
DR(3)=0.0
CALL TPSECT (FUNC,EF,DR,XC,0,1,129,129,4,4)
DR(1)=1.0D0
DR(2)=0.0
DR(3)=0.0
CALL TPSECT (FUNC,EF,DR,XC,0,1,129,129,4,4)
CALL LINEWD(1.1)
DO 12 IX=1,2
DO 12 IY=1,2
DO 12 IZ=1,2

DR(1)=1.0D0*(3-2%IX)

XC(1)=0.5D0*DR (1)

DR(2)=1.0D0*(3-2%IY)

XC(2)=0.5D0*DR(2)

DR(3)=1.0D0% (3-2+IZ)

XC(3)=0.5D0*DR(3)

CALL TPSECT (FUNC,EF,DR,XC,0,1,257,257,4,4)

12 CONTINUE

CALL AYPEND
STOP
END

O O O O

00000650 FUNCDOOOODOOD 3.10000000000000DODODO LFUNCOODDOO
0000000000000 0O0000000008(x) 0000000000 UOOOUODOOUOO
OO0 FUNCOODOOOOOODOOOOOOOOODOOOOOOODOOOOOOOODODODODOO
0000000000 40000000000000000000000000 k0000000000
ooooooboooooooboo

goOooo e.5

FUNCTION FUNCD(XA)

IMPLICIT REAL*8 (A-H,0-Z)

DIMENSION XA(3)

FUNCD=1.0

DO 1 I=1,NNG
KX=1000000.0%XA (1) -1000000*KKG (1, 1)
KY=1000000.0%XA (2) -1000000*%KKG (2, 1)
KZ=1000000.0%XA (3)-1000000*%KKG (3, I)
CALL TSKFBZ(XKX,KY,KZ,1000000,IND)
IF(IND.NE.O) FUNCD=-1.0

1 CONTINUE

RETURN

END

FUNCTION LFUNC(XA)

IMPLICIT REAL*8 (A-H,0-Z)

DIMENSION XA(3)

LFUNC=-1
KX=1000000.0*XA (1)
KY=1000000.0%XA(2)
KZ=1000000.0*XA(3)
CALL TSKFBZ(KX,KY,KZ,1000000,IND)
IF(IND.EQ.0) LFUNC=1

IF(XA(1).LT.0.0.AND.XA(2) .LT.XA(1)-1.0D-4

& .AND.XA(3).GT.0.0) LFUNC=1

RETURN

END
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0000066000 8Db)0000O FUNCDLFUNCOOOUOOODO LFUNCOOOOOOOOO
OO000000000000C0O0OFUNCD O COMMONDOO INDDODOOODOOOODOO 65000
OCO0OFUNCOOOOOODOOOODOOOOO

ooOooo0 6.6

FUNCTION FUNCD(XA)

IMPLICIT REAL*8 (A-H,0-Z)

COMMON/BZPL/INDD

DIMENSION XA(3)

FUNCD=1.0

IF (INDD.EQ.0) THEN
KX=1000000.0*XA (1)
KY=1000000.0%XA (2)
KZ=1000000.0*XA(3)

CALL TSKFBZ(KX,KY,KZ,1000000,IND)
IF(IND.NE.O) FUNCD=-1.0

ELSE IF(INDD.EQ.1) THEN
WW=FUNC (XA)

FUNCD=WW

END IF

RETURN

END

FUNCTION LFUNC(XA)

IMPLICIT REAL*8 (A-H,0-Z)

DIMENSION XA(3)

LFUNC=-1
KX=1000000.0%XA (1)
KY=1000000.0*XA(2)
KZ=1000000.0%XA (3)
CALL TSKFBZ(XKX,KY,KZ,1000000,IND)
IF(IND.EQ.0) LFUNC=1

RETURN

END

O0000e6r000000CDOOOOODOO TPHILDO CALLOOOFUNCD OODOOOOODODOO
00000 INDD=1000 FUNCDOUOOOO FUNCOOUOOUOOUOOOOOOOCALL TPCIHL(2)
00004000000 000FUNCOOODODOOOOODOODODOOOODOODOODOOO CALLOO
O TPSECTODOOOOODOOOOODODOOOOOOOOODOOOOODOOOOD

ooooag 6.7
CALL LINEWD(1.2)
CALL TPHILD(EF,1,4,4,0)
INDD=1
CALL TPCIHL(2)
XC(1)=0.0
XC(2)=0.0
XC(3)=0.0
DR(1)=0.0
DR(2)=0.0
DR(3)=1.0D0
CALL TPSECT (FUNC,EF,DR,XC,0,0,129,129,4,4)
CALL AYPEND

Oo000D0e68000 10000 FUNCD,LFUNCOOOODOOODOODOODOODOODODOOO
OCOFUNCD O FUNCODOOOODOODOOLFUNCO COMMON OO ICUTDODOODOOODOO
ooooooooooOogoICUT=000 00000O0OOOO0OO0O0OODOOOOOOODDODODODOO
ICUT=1,ICUT=200000000000000000000000000000DOOO0OOO0OOODO
0 1200000000000000000OCO0O000O0O0CODOOOODOOOOOOOODOOOOOn
ooooooooooboboo
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OodooOd 6.8
FUNCTION FUNCD(XA)
IMPLICIT REAL*8 (A-H,0-Z)
COMMON/DICUT/ICUT
DIMENSION XA(3)
WW=FUNC (XA)
FUNCD=WW
RETURN
END
FUNCTION LFUNC(XA)
IMPLICIT REAL*8 (A-H,0-Z)
COMMON/DICUT/ICUT
DIMENSION XA(3)
LFUNC=-1
IF(ICUT.EQ.0) THEN
KX=1000000.0*XA (1)
KY=1000000.0%XA(2)
KZ=1000000.0*XA(3)
CALL TSKFBZ(KX,KY,KZ,1000000,IND)
IF(IND.NE.O.AND.XA(3).GT.0.0) LFUNC=1
ELSE IF(ICUT.EQ.1) THEN
KX=1000005.0%XA (1)
KY=1000005.0*XA(2)
KZ=1000005.0%XA (3)
CALL TSKFBZ(XKX,KY,KZ,1000000,IND)
IF(IND.NE.O.AND.XA(3).GT.0.0) LFUNC=1
IF(ABS(XA(2)-XA(1)).GT.1.0D0) LFUNC=1
IF(IND.EQ.O.AND.XA(3).LT.0.0) LFUNC=1
ELSE IF(ICUT.EQ.2) THEN
IF(ABS(XA(2)-XA(1)).GT.1.0D0) LFUNC=1
IF(XA(3).GT.0.0) LFUNC=1
END IF
RETURN
END

O0O00o0e69000100000000000C0DO0ODO0OODOOOODO ICUTOOOOOOOOCALL
TPCIHL(2) O FUNCOOOOUOOOUOOOOUOOOOOO

ooooo 6.9
ICUT=0
CALL TPFXYZ(FUNC,EF,NN,NK,1)
CALL LINEWD(1.3)
ICUT=1
DR(1)=1.0D0
XC(1)=0.5D0
DR(2)=1.0D0
XC(2)=0.5D0
DR(3)=1.0D0
XC(3)=0.5D0
CALL TPSECT (FUNC,EF,DR,XC,0,1,257,257,4,4)
CALL TPHILD(EF,1,4,4,0)
CALL TPCIHL(2)
CALL LINEWD(1.4)
ICUT=2
DR(1)=1.0D0
XC(1)=0.5D0
DR(2)=1.0D0
XC(2)=0.5D0
DR(3)=-1.0DO
XC(3)=-0.5D0
CALL TPSECT (FUNC,EF,DR,XC,0,0,257,257,4,4)
CALL LINEWD(1.5)
ICUT=0
XC(1)=1.0
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XC(2)=1.0

XC(3)=0.0

DR(1)=1.0

DR(2)=1.0

DR (3)=0.0D0
CALL TPSECT(FUNC,EF,DR,XC,0,0,129,129,4,4)
CALL AYPEND

7T Og

OO000O00ooo TPERSPOODOOOOOOOOOOOOOOODOODOODOOODOOOOOO30OO
OO0000O0OO0O0O0OOTPERSPOO0OOOOOODOOOOOODOOOO71000000000O0DO0O0O0O
O tsesdtmnf 0000000000000 DOOO0OODOOOOOOOOOODOOOOO

Jogog

00 CALL TSPPRP(NAT,NKA ,KKAT)

OO00000000000D0D0DO0 fort. 1 OO000ODODOOO0ODODOOOOOODOOOOOO TSPACE
O COMMON OODOOODOOU0OOO ODOODODOUODOoUODOOoO0ODOnOO TSPpr3 085500000
O000U0000oooOoo000ooooONATOOOOOOO0OOOODOONKAOOODODDODODOO

KKAT(100)

googo

gboooooooooooboboooboobo

7.1

IMPLICIT REAL*8(A-H,0-Z)

REAL*4

WIDTH,XSS,ZSS

INTEGER KKAT(100)

&
REAL*8
REAL*8
REAL*8

&
REAL*8

,JB0(2,10) ,NKO(30) ,IPT(10)

RB(30),RR(10)

WFF(3) ,XFU(3,2)
XXFU(3,2),XC(3,600),X1(3,600) ,X2(3,600)
,X0UT(3,30) ,BOL(30),VA(3,50)

XCC(3),R

INTEGER IK(300),JBB(2,600),IBB(600)
CHARACTER*1 CMARK(61)
DATA CMARK/’l’,’2’,’3’,,4’,’5’,’6’,’7’,’8’,’9’,’A’,

PR

’B?,’C?,’D’,’E’,’F’,°G’,°H’,°I’,°J?,°K’,’L’,
’M?,°N’,’0°,’P?,’Q’,’R?,?S?,°T?,°U’?,°V?,
W2 ,X?,°Y?,°Z7,%a’,°b?,%¢c?,’d’?,’e’,’f?,
’g’,’h’,’i’,’j’,’k’,’l’,’m’,’n’,’o’,’p’,
}q),)r7’)s7’it7,Ju7’Jv)’Jw}’7x}’7yJ’IZJ/

CALL TSPPRP (NAT,NKA,KKAT)

goooo
READ (5

7.2
,*) NBO

write(6,*) NBO

IF(NBO

.GT.0) THEN

DO 4 I=1,NBO

READ (5

,*) (JBO(J,I),J=1,2),BOL(I),RB(I)

4 CONTINUE
CALL TSBOGN(JBO,BOL,NBO,0)

JF=6

CALL TSBOVR(JF)

END IF
READ (5
READ (5
READ (5
READ (5

,*) (RR(I),I=1,NKA)
,*) (IPT(I),I=1,NKA)
,*) MA,MB,MC,KABC
,*) NOUT

IF(NOUT.NE.O) THEN

DO 5
5  READ
END IF

I=1,NOUT
(5,%) (XOUT(J,I),J=1,3),NKO(I)
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CALL TSCSDT(MA,MB,MC,KABC,X0UT,NKO,NQUT
& ,XXFU,XC,IK,NNS,JBB,IBB,NBB,X1,X2,NLINE)
write(6,%*) ° NNS=’,NNS,’ NBB=’,NBB
write(6,600) (IK(I),I=1,NNS)
write(6,600) (IBB(I),I=1,NBB)
write(6,600) ((JBB(J,I),J=1,2),I=1,NBB)
600 FORMAT(20I4)

READ(5,*) SIZE,AF,BT,GM,ED,EL

READ(5,%) ILF,IPOINT

RMAX=0.0

DO 10 I=1,NKA

IF(RMAX.LT.RR(I)) RMAX=RR(I)

10 CONTINUE
DO 31 I=1,3
XFU(I,1)=XXFU(I,1)*SIZE-RMAX
XFU(I,2)=XXFU(I,2)*SIZE+RMAX
31 CONTINUE

WFF (1)=XFU(1,2)-XFU(1,1)

WFF (2)=XFU(2,2)-XFU(2,1)

WFF (3)=XFU(3,2)-XFU(3,1)

CALL AYPSTR(ILF)

CALL AYORIG(10.0,10.0)

CALL TPERSP (XFU,WFF,AF,BT,GM,ED,EL)
CALL TPTRAC(1)

00000 720 tsesdtmn.f 000000 D0OO0D0OOOCOOOODOOOODOO0OOCOOODOODODOOO
TSBOGNOTSBOVR OOOOO TSP pl84 108920 000000000 BOL(I) O TSP pl8& 00O
obobOobooooooooooooooooobooooooooboooboooboooboobooboboobon
obooobooooooobobooobobooooob boobogooboono

O D & €

IP=0 IP=1 IP=2 IP=3 IP=4

IP=5 iP5 IP=7 IP=8 IP=9

09 00obooooooaon

TSCSDT OOOOOOO TSPp230 UO0OODOOOOOOOONA=OOODODODODODODOCOCODODOO
goOoglopooTSppr 000D00OC0O00000O0ODODOOOOOOO0OODOOODOODOOOOOOOO
ooooooboooooboobobooo

XXFUXCX1,X20O0OOOOooooooooooooooooooooooooooooooo SIZE
Oo0o0O0O000D0O00000000goooooooooOD0O TPERSPO CALLOOODOOOOOOO
gobooobooobboobooboooooboooooooobooooooobDooDOoOD XFUOOD
ODmmO000000O00O0OWFFOODOO XFUOOOOOODOO

ooooo 7.3
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51

52

53

LaCl 3

0o 10: oOOOoOOooooon

CALL TPCLEA
DO 51 I=1,NNS
JP=0
IF(IK(I).NE.0) JP=IPT(KKAT(IK(I)))
IF(IK(I).NE.O) R=RR(KKAT(IK(I)))
IF(IK(I).EQ.0) R=0.001
XCC(1)=XC(1,I)*SIZE
XCC(2)=XC(2,I)*SIZE
XCC(3)=XC(3,I)*SIZE
CALL TPSETS(XCC,R,JP)
IF(IK(I).NE.O.AND.IPOINT.NE.O) THEN
XA=XCC(1)
YA=XCC(2)
ZA=XCC(3)
CALL TPPOSI(XA,YA,ZA,XS,ZS)
XSS=XS
ZSS=7S
CALL NRMARK(IPOINT,CMARK(IK(I)),XSS,ZSS)
END IF
CONTINUE
DO 52 I=1,NBB
R=RB(IBB(I))
J1=JBB(1,I)
J2=JBB(2,1)
CALL TPSETB(J1,J2,R)
CONTINUE
DO 53 I=1,NNS
IF(IK(I).NE.O) THEN
WIDTH=1.0DO+KKAT (IK(I))*0.01DO0
WRITE(6,601) I,KKAT(IK(I)),WIDTH
CALL LINEWD(WIDTH)
JJ=1
CALL TPDRWS(JJ)
END IF
CONTINUE
DO 54 I=1,NBB
JJ=1
WIDTH=1.0DO-IBB(I)*0.01DO
WRITE(6,601) I,IBB(I),WIDTH
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601 FORMAT(2I4,F6.2)
CALL LINEWD(WIDTH)
CALL TPDRWB(JJ)

54 CONTINUE
CALL LINEWD(1.0)
DO 55 I=1,NLINE
X11=X1(1,I)*SIZE
Y1=X1(2,1)*SIZE
Z1=X1(3,I)*SIZE
X22=X2(1,I)*SIZE
Y2=X2(2,1)*SIZE
Z2=X2(3,I)*SIZE
CALL TPLINE(X11,Y1,Z1,X22,Y2,Z2,191)
55 CONTINUE
CALL AYPEND
STOP
END

00000 730 tsesdtmnf 00000000000 000 TPERSPOOODO0O0OOOOOO0OOO
000000000000000000 TPCLEAOOOOOOOOOOOOOOO0O0OOOOO000OO
0000000000000 00000000000000000000000000000400000
000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000
TSCSDTOOOOO0O000000000000000D00000000 TPSETSOO0O0D00 XCC(3)
00 ROOOO JPOOOOO0ODOOOCOOODOONONONONONOOOOOODONONONOOOOONONONNooo
0000O0O0IK(I) 000000000000000KKAT(K() 00000000000000000
00000000000000000000000000000000 JP=0000000000000
0000000000 TPSETBOOOCOCOCOCOO J1,J2000000000000000000TPSETB
000000 ROODODOOOOOOOOOOOOO0O0O0O0OO 00010000000000000000
000000000000000000000000000000000 0.001 00000000000
oooooo

000000000 0000000000000000000000000000000000000
0000 CALL TPPOSI(XA,YA,ZA,XS,Z8) 0000000000000 XS,28 0000 AYPLOT O
000000 NRMARKOOO CALLOOO 110000000000000000000000000
00000000 AYPLOTOOOOOOOOOOODOO00O0O0O0OO0O000000000000

0000000000000 000TPDRWS TPDRWB O CALL 000000000000 O0O0
0000000000 001 0000000000000000000000000000000000
00000000000 Nustrator 0000000000000 00000000C0O000000000
Tlustrator 0 0.0l 0000000000000 000000000O0000000O0O0O0O0O00000
Oo00O00000oo0

0000000 TPLINEOOOOOOOOOOOOOOCOOOO000000000000000000
00000000000

00000 740 tsesdtmnf 00000000 OOO0OPTIMEOOOOOOOOOOOOOOOOOO
0000FUNCFUNCD,LFUNCO CALLOOOOOOCOOCOOO00000O0000000000OO
ooooo

ooooao 7.4
SUBROUTINE CLOCKM(ITIME)
¢
C FOR UNIX
¢
DIMENSION TERY(2)
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C- CENTERED LATTICE

Cmca D3
GROUP ELEMENTS ATOMIC POSITION
1 1 E X Y Z 0/11 0Z1 30/14
2 2 C2X X =Y -Z 0/1 /1 1 0/14 3
3 3 Cc2y -X Y -Z 0/1 3/2 4 1/21 2
4 4 C2z -X =Y Z 0/1 4/2 3 1/2 1
5 25 IE -X =Y -Z 0/1 0Z1 10/1 4 3
6 26 1C2X -X Y YA 0/1 0¥1 20/13 4
7 27 1C2Y X =Y Z 0/1 42 31/2 2 1
8 28 1C27 X Y -Z 0/1 122 41/2 1 2

LATTICE CONSTANTS ARE SET AS
A= 8.52399 B= 14.44658 C= 8.53533

CA= .00000 CB= .00000 CC= .00000
8f 0,y,z 0,yz 0,y+1/2,z+1/2 0,y+1/2,z+1/2
Y=10.1525 Z=0.0785

O11: GaODOOOO
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C etime for AIX FORTRAN
CALL ETIME_(TERY)

¢ etime for SUN FORTARAN

C CALL ETIME(TERY)
ITIME=TERY (1)*1000
RETURN
END
SUBROUTINE PTIME(T)
REAL*8 T
CALL CLOCKM(IT)
T=IT/3600000.0
RETURN
END
FUNCTION FUNC(XX)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION XX(3)
FUNC=0.0
RETURN
END
FUNCTION FUNCD(XA)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION XA(3)
FUNCD=1.0
RETURN
END
FUNCTION LFUNC(XA)
IMPLICIT REAL*8 (A-H,0-Z)
COMMON/BZPL/KKG (3,20) ,NNG, IEOH, INDC, IBR, ICUT
DIMENSION XA(3)
LFUNC=-1
RETURN
END

OO000D00OO0000D00 tsesdtmnf 0000 O00OOOCOOO TSPPRPOOOODODOOOOODOO
o000 TSPp60 000O0DOCOOO0O0DODODOOOOOOOOOOOOOD PODFOOOODODOOOOO
O00000DODO0O00000bOo0o0oDObO0000n LaCl3,Ga0O0OO fort.1 OO0O0O0DDOOOO

ooooo 7.1
4

11 0.54030 2.0
11 0.59991 1.5
11 0.60660 1.0
11 0.61963 0.7
6.0

0

1111

210.0 86.0 0.0 -10.0 100.0 1000.0 size of a(mm),AF,BT,GM,ED,EL
91,15 IFL,IPOINT for number on atoms

oooo0Db 7100 110 GaOOOoOooooOOoOooooooooooooooooooboOoooDoon
gobooobobooboobboobbooobooobooboooboobbobboobboooboo
gooobodbgoboboo 1nooooooboboooooboboooobobooboooobobooo
obooo0OobO0b0 o«Ob0bO0obO0o0o0obO0obobo0ooooboboooooobobooooon
000 bOOOODOO AF=86(0)0 000000000000 OO0OOOOO0OOOOOOUOOO
OcO0000DOOO0O0O0ODODOOO0O0ODODOOOO0cO0ODODDOOOOOOTPERSPOOOODOOOO
googooboooboobooboobooboobbooboboboobooboobb cbbobooobd
oboooboobOobooboobooooobooboooooobooobooooboOoooooooboooon
Oo0ooooO0oooo0ooboogo 2001000000000 000O00D0O IPOINT=000000
goooogooboobgd
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ooooo 7.2

455 1.5
494 1.5

2 0.39
2 0.39
3.0 10.0
0

1

o RN

3
002
0
150.0 10.0 0.0 -10.0 100.0 3000.0
92 0

TSPACEOOOOO0OOOOOOOOOOODO TSPACE.F OO0O0O0O SUBROUTINE TSCSDT O TSP
p230 0000000000000 00IK(300) 0000000000 MmMTSCRSTO vAOOOOOOO
OO00ODODOOO0O SUBROUTINE TSCSDT OOOOOOOOODDOOOOODOOOOOODOOOOO
tsesdtmnf 00 0000000000000 O0O0O0OOOOO0O tsesdtmn.f 000000000 TSCRST
OvAOODOOODOOOODOOOOOOO0ODOOO tsesdtf00000O0DO0OOOODOOODDOO

ooooooboooo

8 TPCSEC

B= A4 N
E N
N S
‘o
k,=0.5,
<
/7 /)
Pr)
[ |
S K=TU.3 Zl

012 Cu00000000DOOOOODOOOO 1110

oo0dOoglboo 2000000000000 0D0OODOOO0OOO000OOOOODOD TPERSP OO
oOoOTPCSEC OOOOOO0O0O0DODOODOO0ODOOOOOO0ODDOOODOOODODOOOOUOODDODOOO
000000000000 TPSECTOOOUOOOOOOO XC(3),DR(3) 000000000 XFU(3,2)
Oooo0oooo0o0oooooOoOoOooooOobooOooooDoooOoOoTPSECTOOOOODOODOOODOOOO
gooooobooooobooooboooooooboobobooooooboobooooDbbooDOoOD 4
000000 IHLOODOOODOOOODO IHL=1O00OOOOooooooogd FUNCFUNCD,LFUNC OO
oboooooooooonbo

ooooos100 1200000000000 CGwOOOO0OODOOOOOODOOO0 1MMOO0DODDOO
00000000000 DOO000O00DO00ODO000ODU0DOODOOO00O0OOd Adobelllustrator
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oboooooboooobOoboooobOobogs200 20000000

ogooood 8.1
IMPLICIT REAL*8 (A-H,0-Z)
EXTERNAL FUNC
DIMENSION NRECPT(3,30),RECTAX(4,30)
REAL*8 XFU(3,2),WF(3),EF,EE
REAL*8 EM,PN,p
REAL*8 XX(3),XC(3),DR(3)
common/enrspl/EM(366145) ,PN(3),p(3),n(3),js
INTEGER M(3),NN(3),NK(3)
READ(21,*) NB,IEOH
DO 10 J=1,NB
READ(31) IXMAX,NB,NNEE
READ(31) (EM(K),K=1,NNEE)
WRITE(6,%*) IXMAX,NB,NNEE

10 CONTINUE
PN(1)=1.0
PN(2)=1.0
PN(3)=1.0
n(1)=IXMAX-1
n(2)=n(1)
n(3)=n(1)
js=3
DO 51 I=1,3
P(I)=Pn(I)/FLOAT(N(I))
51 CONTINUE

WRITE(6,*) WWWW
READ(21,*) (XFU(I,1),I=1,3)
READ(21,*) (XFU(I,2),I=1,3)
READ(21,*) SIZE
WF(1)=SIZE
WF(2)=WF (1)
WF (3)=WF(1)

READ(21,*) (XC(I),I=1,3)
READ(21,*) (DR(I),I=1,3)
READ(21,%) EF,DDE,NDE
write(6,*) EF,DDE,NDE
READ(21,*) N241,NK2
write(6,*) XC,DR,EF
write(6,%) N241,NK2
READ(21,*) IFL
CALL AYPSTR(IFL)
CALL AYORIG(30.0,30.0)
CALL TPCSEC(XFU,WF)
CALL TPTRAC(1)
C IEOH=1
CALL TPSCHG (IEOH)
CALL LINEWD(2.0)
NNX=N241
NNY=N241
KKX=NK2
KKY=NK2
CALL TPSECT (FUNC,EF,DR,XC,0,1,NNX,NNY,KKX,KKY)
CALL LINEWD(1.0)
DO 31 IE=1,NDE
EE=EF+IE*DDE
CALL TPSECT (FUNC,EE,DR,XC,1,0,NNX,NNY,KKX,KKY)
EE=EF-IE*DDE
CALL TPSECT (FUNC,EE,DR,XC,1,0,NNX,NNY,KKX,KKY)
31 CONTINUE
CALL AYPEND
STOP
END

goooo 8.1
61
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